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Mark Scheme – Tuesday 5th May 

Part 1 

 

£12.54 – £5.82 = £6.72 

 

Part 2 

 

Part 3 

 

Part 4 – SATs Questions 

Q1. 
  
Award TWO marks for the correct answer of 1.07. 

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g. 

•        1.28 + 1.65 = 2.93 
4 – 2.93 

OR 

•        4 – 1.28 = 2.72 
2.72 – 1.65 

OR 

•        4 – 1.65 = 2.35 
2.35 – 1.28 

Accept for ONE mark an answer of 107 metres as evidence 
of an appropriate method. 

Answer need not be obtained for the award of ONE mark. 
Up to 2m 
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Q2. 
(a)     £2.86 
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(b)     Award TWO marks for the correct answer of £2.02 OR 202p 

If the answer is incorrect, award ONE mark for evidence of appropriate working, eg 

4.69 + 3.29 = 7.98 

10 – 7.98 = wrong answer 

Accept for ONE mark £202p OR £202 OR 2.02p as evidence 
of appropriate working 

Calculation must be performed for the award of ONE mark 
Up to 2 
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